




Pick out the most effective words from the given words to fill in the 

blanks to make the sentence meaningfully complete.



In 1907, Leo Hendrick Baekeland, a Belgian scientist 

working _________ New York, discovered and 

______________ a revolutionary new synthetic material.

1. at; patented

2. in; patented

3. on; patents

4. under; will patent

5. of; patents



Fill in the blanks with correct words.



Jaipur is the ______ city of the Indian state of Rajasthan, 

which was founded on 18 November 1727 by Jai Singh II, the 

ruler of Amer, after ______ the city is named.

1. Large, who

2. Larger, whom

3. Largest, who

4. Huge, whom

5. Largest, whom



It has become ______ a common sight, even across small-

town India, to observe men, women and youngsters glued to 

the screens of their mobile phones while deeply ______ to 

traffic and other dangers around them.

1. Quite, oblivious

2. Quite, obstinate

3. Quiet, oblivious

4. Quite, heeding 

5. Quiet, unheeding 



A sentence/a part of the sentence is underlined. Five 

alternatives are given to the underlined part which may 

improve the meaning of the sentence. Choose the correct 

alternative and click the button corresponding to it. In case no 

improvement is needed, click the option corresponding to 

"No improvement".



The army has given their order to vacate the village.

1. there order to

2. its order of

3. its order to

4. their order of

5. No improvement



Standing in the middle of the road was a bad idea.

1. were a bad

2. are a bad

3. were the bad

4. are the bad

5. No improvement



Everyone has come, haven't she?

1. haven't they

2. hasn't she

3. haven't he

4. hasn't they

5. No improvement



One should obey their parents.

1. obey one's parents

2. obeyed his parents

3. obey its parents

4. obeying one parents

5. No improvement



Each of the girls has their own doll.

1. has there own

2. has her own

3. had their own

4. has his own

5. No improvement



In the question given below, a sentence is given, divided into 

parts. One of the parts may contain an error. Identify the part 

that contains the error, and mark it as the answer. Ignore 

errors of punctuation. In case the sentence is correct as it is, 

mark option (e), that is, 'No error'. The words in bold are 

grammatically and contextually correct.



Scarcely had Richard reached the stage than the audience 

started screaming, for the people were too excited.

1. Scarcely

2. reached the stage

3. than the audience

4. for the people were

5. No error



Ironically for Walesa or Havel, it is the political heirs of their 

oppressors which will lead these countries into the EU. 

1. Ironically for Walesa

2. or Havel, it is the 

3. of their oppressors which

4. will lead these countries

5. No error



It may be worthwhile not to eliminate export subsidies 

outright, which is ostensible the goal of the current Doha 

round of global trade talks.

1. not to eliminate export 

2. subsidies outright 

3. which is ostensible the goal

4. of the current Doha round

5. No error



In Sweden, on any weekday, near 10% of its workforce report 

sick, and the total days lost this way has doubled in five 

years.

1. on any weekday, near 10%

2. of its workforce report sick

3. days lost this way

4. has doubled in five years

5. No error



His writings were numerous, and had he never translate the 

Bible by which he is so well known, his tracts and books 

alone would have made his name.

1. His writings were numerous.

2. never translate the Bible by which 

3. he is so well known, his tracts

4. and books alone would have made

5. No error



In the following question, a sentence is given with four words 

marked as (A), (B), (C) and (D). These words may or may not 

be placed in their correct order. Four options with different 

arrangements of these words have been provided. Mark the 

option with the correct arrangement as the answer. If no 

rearrangement is required, mark option (5) as your answer.



The brought (A) kitten was abandoned (B) to the veterinarian 

(C) after it was hit by a truck and broke (D) its leg. 

1. A-C

2. C-D

3. A-B

4. D-B

5. No Rearrangement



Zimbabwe's excess (A) really crashed (B) when the 

government decided to keep printing economy (C) money to 

fund (D) its war. 

1. A-B

2. B-D

3. C-D

4. C-A

5. No Rearrangement



The postponed (A) was supposed to happen in November (B) 

but due to the pandemic, (C) it was now indefinitely wedding 

(D). 

1. D-A

2. A-C

3. B-C

4. D-B

5. No Rearrangement
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